e Al Metien vag

PERIOD DATE

®. Practice##1: Motion Graphs & Calculations ¢ \r lgL

L. Th
"+ 1€ positj : :
10n of a wind-up toy is shown over several seconds.

2 %V\ E 10

—-——__ Estimate the initial positi -

. Stm initial position the toy. ’
' Calcul avers elocity e toy fi ‘
"10“811 oty ulate the average velocity of the toy for the 7.
= bamy LA, San <«
KXt \14{;} > 1r g5 At HE
———— Write a position equation for the toy's motion E Y
at
d. (3 AR _ '
F . the toy were to continue moving in this way, Y
re would it be at 20.0 seconds? !

I R T T R S T T

Tume, s

2. A cartr . P o .
olls down the ramp. Its initial position is 0.55 m and its initial velocity is 0.20 m/s. It accelerates at a rate of 2.4 m/s’.
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3. The position-time graph of a car is shown over several seconds.
a. Describe the type of motion that created this graph.
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a. The graph shows the velocity vs. ime fora rolling ball.

Describe how the ball 1y moving
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Calculate the time when the ball will stop

5. The changing positons of a car shown in the picture.
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! Calculate the ball's total displacement for the data shown
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6. A pumpkm is thrown directly upward wnth an initial velocity of 19.6 m/s.
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